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For these questions you must work out the 
rules for obtaining the number in brackets. 
Check these rules work for the second set of 
numbers. Then apply these same rules to 
obtain the missing number in brackets. 
 
 Example:  

2 (12) 6     14 (28) 2     12 (?) 3 

 Answer: 36 (12 x 3 = 36) 

 

Question 1. 

44 (22) 22     59 (24) 35     34 (?) 19 

 

Question 2. 

60 (10) 12     40 (10) 8     63 (?) 7 

 

Question 3. 

38 (16) 2      48 (5) 6      88 (?) 11 

 

Question 4. 

37 (132) 97      95 (112) 19     47 (?) 56 

 

Question 5. 

6 (27) 9       14 (56) 8      11 (?) 8 

 

Question 6. 

56 (21) 8       40 (24) 5       63 (?) 3 

 

Question 7. 

26 (11) 8        38 (18) 13        41 (?) 24 

Question 8. 

4 (48) 6        8 (64) 4          9 (?) 5 

 

Question 9. 

70 (-15) 55         62 (-20) 45       23 (?) 7 

 

Question 10. 

80 (10) 60         68 (25) 18        69 (?) 3 

 

Question 11. 

9 (63) 6         13 (91) 6         9 (?) 11 

 

Question 12. 

4 (-15) 19        1 (-4) 5        2 (?) 8 

 

Question 13. 

19 (25) 14        16 (49) 9      19 (?) 16 

 

Question 14. 

2 (24) 3         5 (80) 4       11 (?) 4 

 

Question 15. 

8 (44) 11        12 (108) 18        7 (?) 18 

 

Question 16. 

59 (22) 7       72 (28) 12      43 (?) 32 

TYPE - 18  (NUMBER IN BRACKETS) 
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TYPE – 18  (NUMBER IN BRACKETS) 

QUESTIONS ANSWERS 

1.  34 – 19 = 15 15 

2. 63 ÷ 7 × 2 = 18 18 

3. 88 ÷ 11 – 3 = 5 5 

4. 47 + 56 – 2 = 101 101 

5. 11 × 8 ÷ 2 = 44 44 

6. 63 ÷ 3 × 3 = 63 63 

7. 41 – 24 – 7 = 10 10 

8. 9 × 5 × 2 = 90 90 

9. 7 – 23 = -16 -16 

10. (69 – 3) ÷ 2 = 33 33 

11. 9 × 11 + 9 = 108 108 

12. 2 – 8 = -6 -6 

13. (19 – 16)² = 3² = 3 × 3 = 9 9 

14. 11 × 4 × 4 = 176 176 

15. (7 × 18) ÷ 2 = 63 63 

16. (43 + 32) ÷ 3 = 25 25 


